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d using the letters i;‘lfl'lm g:r'?'.'mﬁ:rrd,

Bl Tradition
J) Sdteation

2) WALLET: MOMNEY ::

Question Nos.2 to 5
Y HEGT2 X 5%

Directions / JAd Selec! the reiated word 7 iattar #
rumber from Ma givan allgmaivas.

v 3w R & I BRI e HE S R e

ENVYELOPE ;

IEFHT:EFI::ﬁaEEFHI;?

Al Gum /e

C) suiTcask e

FiL.

3 .
~ETTER /99

D) POSTOFFICE  STHET

B) 125
D) 525

4) CARD : JOKER :: BOOK ! 7
?H?f:ﬁﬁ!ﬁfzﬂgﬁgﬁmtyﬂ

“} COVER / HraTor

§) AK:rv:Xi»:

= |

Bl iy RIS, e
D) paGES ) ys5

B) )
0) BH

B) 1750 mnutes ago, it was 45 minutes past four "o elock,
how many minutes 15 it until six "o clock?

i 50 e TFE 4 BT 45 Tame & & oF TR

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

Courtesy :

SSC



Jireetion: Two stalements are given followed by fwo [10) A Z.B.Y,C X D.W,EV,EU,GT

-f-;‘;___;-a-".qgsummum | and Ii. You have to B) S
gl B A}V )
consider the statement ta be true, even i it seems al i. R

variance from commonly known facts. You are to ch D)

decide which of the given conclusions/&assumplions

; o i B i . Bar ot hcloat 1ﬂ| A [mﬁfplpcrEtﬂlﬁmmdwtass}mmmbﬂwmﬂm
can definitely be drawn from given statement — } 4:|1|J:5’!;|Ell on figures. From the given answer figures, indicate

LT answer,
_j-"ﬂ - hm*-'“ it will mpm when ﬂpmad

" ey E’ﬂr arar & m .ﬁ'??i* g

1
12) Ragh stats from Eis house in his corand 1races B <m
I 1ewarts the Mogth, then § Km towards East then 10 Ko

Ihnmd :.sm:it a l:mmar owands his right, 4 Km towards his left, 10 kun wowards

& Mo and finally 4 Km towards his nght, In which
; ﬂﬁ tl direction is he now with reference 1o the starting puml‘ !

W w it 7" WA BT H A9 W A T YF T 6
e ’ 5 Km Ieaw A T B, TR 6 Km OF F ST B

A ﬂﬂHdMim [I ﬂﬂnﬂ H :‘B;rr 'Hﬂth LD:1£IM1DHS aules I a4 e . _a [ e T aas
| be drawn, [ FEw fesFy be deawn, [ ETA | IHF ‘HIE 10 Km ET AR E #ﬁ 'ﬁ?ﬁa? 4 Km &TT Fen

C) Conclusion | ahons can 0) Naoth conzlusions cun b | =1 =TT . H

ke drawn. / ddol eTeRY drawn, | ST e

li ﬁfﬂﬁd is & stodert.

ha} [n i wﬂﬂ,m code TEMPLE is wnitten as METELP, How 15
THFUL written in that code?

B) zIAFLUFH
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20) The number of students in &n art ¢lass 15 increasing month
Quastion Nes.14 to 16 after month as follows. Find the number of students in June

vy waar 14 & 16 9% | from the following information.
m - | Month Jan Feb March April May June
at. Find the odd worddiaiar

No.ofstudents 1 2 4 7 TR
T ¥ w6 T ¥ AR, W G ¥ W
14) . . W W6 I

A) gquare/ i B) Triangle / Peget ot drdEem 1, 2 -4

C) Trapezium /wHee®  O) Cube/®H S - 1::
o 18 o) ¥

Directions / i«

I.Fm ghrm I‘mmamw.

15)

A) _ONO Bi 1FH

l:}gEED D) YVX

21) Find the missing number from the given fespinses.

3 4 -
=)

i |
i A ANy .-"'r ;
=1 ll ' i..__-'r 9 11"'.. i 4 .:r ™ o II.i'----.

A) 631 B) 424 Q¥ - k.
C) 432 D) 460 ay " B} &
c) o D) &

17) Which will appaar 3 in the dictiorary?

YT & e A e Er= e s | 22) From the given answer figures, select the one in which the
| N question figure is hidden/embedded.

A} collogu y | RLAC 15101 ﬁ“ ﬂé’ P ﬂ' -} e

C) collincar "y, collegiate _ §

it

13) Whl-:h ﬂp.m: represents the relation amaenyst rose, fowe

AR 2 3128 S T, o R

8

19) If the alphabets are numbers the sum of which 5 alphabets

is 51.

B) AIOEJ-
D) AEOIT
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23) A word is represented by only one set of numbers as given
in any on¢ of the altematives. The sets of numbers given in | 25) In the question, if a mirror s placed on the line AB then
the altermatives are rEprﬁEﬂtﬁﬂ by two clazzes of alphabets which of the answer figures 15 the right image of the given

s m :wu:a Mmima given below, The columns and rows of | figure?

atrix | are numbered from O to 4 and that of Matnx 11 arg 7 =ooT ‘ =T=T
| ﬁ-ﬂmjm'; .ﬁ.iﬂm‘ﬁ*ﬁmﬂmzmm:zﬂmhe T A o W AB T W T E“H’I’ﬂﬂ‘

#® oo mﬁ'{ 2l ?lé AT W HEl Wi
- 67 ete. Elmdu'l;f,yuuhawlu identify N .
thie set for m ward ‘RUDE". s O

ﬁﬁqwmwmﬂﬁﬂmﬁm | . e NS
axiie S o A & e & JegEt A g | ——— — : - T -
Wl#ﬁmmqﬁaﬂmu#:;ﬁﬂ#t — | Y= |/ =
mmhmﬂ?m'rﬂrm.l';_mﬁm .
ENRT S WA § T M W 5567 A qan

mmmhmm#m—im T
WEE "RUDE’ & @7 ¥HF & o9+ 1

I &7 TR rIESee S T L

|
- MATRIXI MATRIX I
01234 5 6 7 89

1DETOB .6 ULMR:I -
ZEBODT 7 IMRUL
3T 0B ED ﬂ|L;ﬂ_u I ™
A OTPBE SR IILMU
Yy 89 04 ] EI} T, 26,02, 1t
) Q5 w7, 42, 14 [:I-] Ak, b: 10 23

24) Which answer figure will complete the paticm in the

question figure?

e
195
?
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27) A very hot and ﬂl}f local wind blowing across North Indian
pl:mm in summer is:

nﬁwwmmﬁﬁmmﬁﬁ

©) mistral ! PrE

- Bl 1oo 4 T
D) et stream / ST G

28) In India, National Youth day is eelebrated on:
TRA F T o BeEw v o ownn i

Al I',ith]anum}' 17 Bl [st January ! | SeEd

D} 30ch Jasuare ¢ S0
T

C} 20th January 7 20

thed that cannct be used for removing pérmanent
hmium of water is:

qrHr # Tl FERATE F e & BT &l @

A) adding caustic soda /

B) distillation / 3TEE

D) adding sodium carbonate

HIT| . SEFIF JUE UE WIS O]

30) Wha is the woman Boxer to win Silver medal in London
ﬂhﬂﬂpms uf 2012:
HEGw 2012 § 99 UBF FE A

A Nicola Adams | e B) Prary Kom ( 8 in
C) KeTieTayier / ®r o P} Natasha Jonas / stamm

3) Who propuunded the dynzmic thzory of profit?

I

By . i
| a Wasker ! dlohd
<] Flak | 3T

Al Knight | AmEe
Ll Hawlew [ #7344

32) The secomd Lapest contmem of the world is;

T &1 G Hae a8 HEET hlel-Er 872

A Noah Americn ¢ Feslt Bl atin ¢ ofinn

O} apasctica ¢ sredrfrsr D) agica ¢t anfre

33 opulation census s taken onces n:

Fad a7 7 TR 9T & A {7

) P}mflﬂﬂ*

B) s vears | 15 &9
D)

every vear | Wikay

34) The nualmr rmtlun in which the mass 15 converted into

B) exothermic / werAT
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35) .Fs person wilh blood group 0" can receive blood
ransfuzion from persons wrth blood arougps.-

A) only ! #FEw O B) A.Bonly/ Ha A.B

©) gandAB/OMTAR D) A, Band0/ A, B
0

41) Under the Lumhluimm pmlm health and sannation arud
hospitals and dispensaries fall in the:

.---"Wﬁmﬂﬁmmﬂmaﬂrawﬁm wg

e

I

36) Which Mauryan raler accompanicd Bhadra Baho 1o
Ehmvmﬂb&-lﬂgiﬁ?

Al Ashoka! 3iTE

A) Congurrent list | ® B) State list / T el

LS
EI' Mo list / ﬁ.,'m :_:Fﬁ'[ < D) Centia ] st E‘iﬂ ﬂ:‘?—ﬁ

421 The oreap of coonirics the are usaaiby referred o as th -
B ahi cnmtties” songiEt al;

S A3 W TRl TS ST @ A,
TAS FHE A afdatT 3 2w wiFe 7

 Ap petonia, Latve ard B) Sweden, Finland and
) cicus | TETTH Fepa) | Lalhin=0;: a Eﬂ-l{mm

38) Anmphutm gubstonLe Auts oy

F TR =T C) Poland, Belarus and ﬂ'l Elmmmk Podand and
a1 & Lithuania Labvia

ety unacdand abase B Base ! BN
[ dFo HIT 87 T

C) Moaeafthecptions:  U) acq j 3w 43) The first electronic di
frr oy et & A following:

39) The first PM who had resigned withoul attending
| Parhament session was-

Al smt indira Gandhi / B} 1.l Bahadur Shastri /

mﬂaﬁ gfeqr el , _
o Ehm‘m Singh / =9 D} Morarii Desai /FRT

i
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44) Who among the following was the Viceroy of India when
the mutiny ef 1837 took place?
m.,w & ﬁﬁf F HAT AT

48) ‘I-'-’hu:l:l is niot 4 central problem of an ¢mmmy4'

B) How to maximise private
mﬁmﬁm T T

WY A

= g/ B
D) “unning/ #flar

L

C) What to produce? / D) How to produce? /

45) The Ramekrishna Mission was founded by:

- 48) Louis Pasieur discovered:
uS ot & e v A2
Al Dvicilin / SRE B) rolic Vacsine ) YT
m E
E]‘ Afntcanies Vaccine | U} Insulin |

S0) w.ulh Adrica’s tirs: black president an:
Hi.rlm helorcle i died on:

BY Cjeud ! g ‘

C) smoke 1 13T B e - #reE
A} December 2, 2013
47} Which revolution was started by the Government of Indid 2 farET, 2013

~ toincrease the milk ouipul.

Folel-HT C)

seernber 9, 2014
AT, 2014

A it Revolution | 995 B) Green Revolution /
C) Blue Emmﬁm A P vellow Revolution /
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54) If T 510 be divided among A, B, C m such a way that A
ﬁt.szf 4 0f what B getz and B peis s or vrhat C getz then

their shares ars respeciively-
§1) Thetime required for a boy to travel along the external and =fE 510 ﬁa&a_ﬂ#ﬁawmﬁmﬁa
iniernal boundaries of a circular path are in the ratio 20 — i Bk . . |
19. If the width of the path be 5 metres, the internal | P e B A Y R B AR et s
diameter is: s B TR ¥ © W e any vt w s

v wEw w1 Tl geoen 9y f amdr ot iR B —— o

ardrardt & wre wee #2019 & yEad & wEw |
ST §] IR o Fir e 5 ey § A gl
= T e A} 130, %1300, T &0 B) T60, T80, T 500

. ' | | C) TI150, ¥ 240, ¥ 120 By ¥ o %04 2 |50
A) 195 metres i HIE E) 192 metres | H1ET

) 190 metres / ez B} 180 metres | Hrew "
B3) 5ix friends hav 2 i dverave heichiof -7 cona & B woitld

; hq tlf‘:'u I p j'i.'"'u. ; F'I.Jl.I o | S S R ]
52) A man rows 750 m in 600 seconds against the stream and h;_gt_ P TREIL R (e g
returns . 7"/2 mvinutes. Its rowing speed in sull water is wE ERelt £ I w6 e B 1 em v
(in Km/hr). : :
nﬁﬂmm:ﬁﬂmﬁnﬁlﬁ e & 730

Adts AT Fitav
ﬂrﬂ!mrm?:&]'ﬁﬁzﬁmﬁmma—rm | ‘

|

i Bl C} 165 o D) 166 om
A) 5.75 BT 3
- ; .
= » w2 | Question Nos.58 to 57

T3 FEAT 56 & 57 O

Directions / fsi@ ¥ The following pie-chart shows the
market share of four companies 8, T, 11 and V. Total marke
15 worth € 92 crores. Study the pic-chart and answer the
questicns.

33) Ram Heught a bike fon © 600, He paad € 100G cash
denen aned 1w rest &t the enad of 2 years ol 15% sinple
nterest How muoch morg did e pay as simple interest?

{M#Emrﬂﬂﬁuiﬁmﬁﬁﬂﬁﬂﬂﬁﬂm
mwmmmmﬁlmzﬁ#m
1 5% WMYOT SOIN 97 ¥ Toe) mmdﬁ

A) T 215000 RBLH15,000

e g A g svfag s, T U dty w
SR gRf AR 3| Ho AT T 72 g

C) 2 50,000 D) 35,004
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§6] The difference of market shares of companies V and U is?
ot vlT U F T 90T B e FET Y

Cl scores | T DY ¢ Cares | 113

*7) The company having maximum marker share is 2
P AT ST TR S S

&Y 5
G) W

B) 1
D} U

58) A house worth T 1,530,000 i5 50l by X oY at 5% podl
Y sells the house Back ta X at 2% loss. Then inthe ertirz
transaction:

T 1.50.000 FFY FIF FHFA X @ Y FI 5% TH
T BET AT B Y 39 HeAld @ @9w N & 2%
g ot & & & oy ¥ & v ety o

A) X losesT 1350

| B) X pame B2
X w7 1350 Fr o=

W ghl T 414D T HIF
BT

53

C) X losesT 4250
WO #4350 W T

D) }[EﬂilisEHl'ﬁ-ﬂ
% <l ¥ 3150 F OAH
BT

59) The three angles of & triangle are in the ratio 3 : 4 1 5. Then

Lhe angles.are.
uw Thga & A FIOT 30405 & FAIA A F @
wior et v & 67

A) 607, 458, 759 B) 758, 60° 450

Gl ASE, 60° 750

D) &7, 759, 430

Latest Sarkari Jobs, Govt Exam Results,
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60) The sum of all natural numbers fram 75 16 97 is:
7SHYT AF 1 WY UFAE HLAH & AN Far

B
Al 1958 HEvoassh
C) 1798 Jl B -

§1) The sum of two pesitive nunbers is 20% of the sum of
the' s wouares and 25%: of the difference of their squares. 1T

the aumibers are X and Y (hen

- s eJua. tn-

e

AT Yl cervh: HLELA] &7 U3 Jods: I & T[T & T
iy T HIT TR OO & I & 25% B Ot
EAIL N HE B A

3 x4y Tedel g
Vi
A} ! 8] 2
i ",
{tC) 2 Dy 1
i &

| B2) What should be he least number of years in which the

simple interest on T 2600 at 6 /3% will be an exect
number of ropecs?

3 @4 & FgAoH AEa F g O T 2600 T
6159 Y BT ¥ wuRer s & aftr sat #

A) 4 B) 3
C) § D) 2

63) The amount of rice produced in square field of side 50m s
750K g. The amount of rice produced in a similar square
field of side 100m will be-

I S0 et gt o U aeiee O A7 750 o

WIEE ST ICAIe BT &) 100 AT ST aw 3ae 8

A) 2000 Kg | T B) Js00 kg 1

D) - |

SSC



Bd) Theaverage weight of E persons inereases by 2.5Kg when

a new person comes in place of one of them weighing 65
Kz Theweight of the new perzon is-

¢ cufdadt w1 ¥tea e@w 39 3av 25 B @
AF § A 3A8 & 65 T aaq & v =Ea &
U W UF 97 SiET BT onaT # A =mEe

a9= Teoer B7
A) 7gxg / B) sixg / P
<) dsKg ( T D) 755Kg / P

B5) A seller gains 20% profit even after allowing 10%%
discount. If the amount of profit on a TV set 15T 730, then
the marked price of the TV set is:

ve TR 10% & g & & T o 200 =1 e
Farar B ofE & AT ov ww & ofs TI50 & A
il HE &1 HFT JE o 5

A) T 5000
C} T 4800

B) T 35u
D) T 5200

B6) The average age of a nushaad aad bis wife was 23 vears at

the tume of thesr marrage. Atke: Hve yovs they have a ore
weur oIG cluld, The sveroee ape of the Faaly 0w 15+

vF qiF-amt o HET g 37 BEw o FAT D
4 ¥ Ui a¥ F &1 39 U € F FweAn A
Ha qrare Fr ¥Ea 1 e 1

6B) 1fx, y mre relional pumbers and 2+

67} 8 children and 12 men complete a certmn miece af work n

G days. Each child tkes twice the e (aken by o oman o
finish the work. In how many days will 12 men tiush the
same work”

& avd ¥ 12 wgdr ol s oW o e A
FAA ] TUE T W AR, qu T A FTGHT
FEST W T WA WA §) 12 3w 59 e

Al g days / &=
€} 13 days 1 R

B | dmys S [ |
Db s davs [ TS

'=—.|

| | W 4 jﬁ.

=Ty ']

The valoe of x and v are:
ﬁ;ﬂ,:{ gR#AT FEge ¢ o1 3l .'L;'j-'-rﬁ:?i

A) x=-25, y=-1l Bl i- By
e iT 17 28
Ch x=— %1, A =L D} w44, w=]l]
i3 1% 13 |7

BBY A sccoter s sold ot three successive discounts of 1053, 2%
ard 7%, 1f themarked price of the scooter 15 T 15,000,
find s net seliing price.

U =hed 10%, 5% HiT 2% & 39 JIeE A §e 99
3¥I AT B O ey w1 ¥R wEw T ie000 ¥ oA

B) T 1508200
B} B T

AY B LsoR 06
C) T 1508220

A) 255 vears [ I

Cl 25 Y zars ! e

Bl g vears [ T4

D) 293 vears | BY
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&m ?.-ha found tlmm-emm roftern. She mldﬂw
remaimng cggs of the mife of T 22 per dozen. Then her

profit or logs percent is:

P o 720 Wi g & g w2 Vo e i
mivk| Fwer &mr fr SeOt 6 FE WS BV 8] T O
33 T2 9l gEw B @ W AT Ry 3B B

A) o profit / AT B) 0% 10ss 1 WIRY

C) 1% profit / AT D) 1254 10ss / BTEY

71) A 200 metres long train is runming al a speed of 72 Km/hr.
How long will il take to cross B00m long bridge?

w200 Het w9 ToemEr 7 el /oS eT o
U e R B0 M. IR OUA R TN FF H I

B) 40 second 1 TFE
D) SF second ! EFE

A) G0 second | THE
Yl B second { RS
T2] A certain purnbor of men can de a work n 40 davs. 11 there

were & men more, L could be finished in 10 davs |ess Fow
muan ¢ foen were there imitially?

I3 ZqTEA TE I F 0 e A L Eahd §] 9
g Tafde 3T e o1d, o ad ST 1 B wA
FAT A G R WA | WA wH # o e
=T W 47

A) 18
c] 20

73) The value of (75,

T4} A man allow adiscount of 10% on a book whose marked
price is ¥ 40, What i3 the cost price 5o that the profit 15
20rer

uE kT uF gFaw o1 o 3 e T §

1% S T FET & SO AT AEW WO g

A) T35 B) T 40
C) T30 D) T45

75} M the radius of a circle is decreased by 10%4, then the arca
of the circle is decreased by

afE Rl e o Tawan 10 wel & ST A e W

A) 25%. By 153

C} 9% D} 198
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81) A man from our village has been nominated the
ruling party’s candidate for the past o

A) for B) as

* Nos. TG fo T8 C) in D} o

mmm#ﬂm

Diractions / I8 Some parts of the sentences havs 82) Wepgeimilk fromthe
eIrmurs and some are comect. Flnd aut which part of & A} daisy Bt doiv
sentence has an emror and biackan the circle &Y i
corresponding fo the appropriate corract option. If a ) dhany L) dziny
..wnmnw is free frovn error, bfscken the circle

rresponding (o "No Error’ aption in tha Answer Shoat

G Question Nos.83 to 85
p beside ours has been built in 1966 by John's V¥ HEar B ® 85 7%
Directicns / ﬁfﬂ:’ Choose e wiorn D RIEe 10

maaning o the mven werd ang enack i the Answer
Sheet!.

A) by John's brother B) Nocmor
C} has been built in 1966 D) Thecamp beside ours

77) 1 have been walting for vou sinece twoe hours. 83) nnisly

A) T have been waitin g B) No emor A quatly B) cisnls
C) since two hours D) for you C) loudly D) ot petly
78] An ides was worth nething i it has no champion | B4) beauliful

A) Mo error Bl Anicm A) buuntifw B) birarr
C) ifit has po champion D) wis werh nething Cougly D) unigque

E=) admirat.on
Cuestion Nos.79 ra B2 A) comampr
T NS TR W B2 6% . C) Elame
Diractions / 34 Senlencas ar givan with blanks (v

be filed inwilh an apprmpnizle word(s). Four aitematives
@re suggesied for each quastion. Choose the comect |
(affamative owl of the four and indicate it by blackening
e appropniate circie in the Answar Sheat.

Question Nos.86 fo BS
TP 84T 36 ¥ B3 aF

Dirsctions / ﬁfﬂ‘ Out of the four altematives, choose

79) He has been staying in Delhi______a long time. R R
A) from B) iill mmﬂmm cirele in the Answer Shest
C) for D} since .
86) One whao pretends to be what he is not:
80) Jones is a member of our _ | A] Tumcoat B} Liur
A} coup i i

C) council Latest Sarkari Jobs, Govt Exam Results,
T Vacancies and updates on one click

A) Proud B) Good friend

C) Understand D) Selfish friend
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o8) A contminer for the ashes of a dead person:
A) Vase B) Vessel . Question Nos.95 to 97

&) Jug D) Urm Yo WEGT 95 & 97 A

Directions / fader Four words gre given in eac;
quastion, aut of which onfy one word is correctly spelt

Find the corectly spelt word and mark your answer in
|the Answer Sheel.

Quastion Nos.89 1o 91
T FET B0 # 01 Aw
ctions / fAZer Qut of the four allemalives, choosa 95) o

|the one wilich best expressas the meaning of the givan
mm‘ﬂm‘mmﬂrmmeﬂnmrsmat A

m

A) compulsomry B) compelsor
C) compulsory D) compullsory
B) Trickle o
D) Downpour Al enthusaism B} cnthusziasm
) enthusiasin D) entusizsim

B) Spaificam
D) Crucil

Grestion Nos.98 fo 100

¥rT FOITOE #1100 9%
Directions / &8 A sentence / 4 pait of the sentence s
Question Nos.92 1o 94 undenfined. Baiow are Fivan alemaiivas o he

: F unenfed pat whieh may un,'m:w& the sanfanceo.
T TS 0L H 94 7% |Choosa the correct aiternativa. 1 case no improvement |

Directions / I42%" Four altamaitives ana givan far the s ngaded shooss ‘No Impravement”.
Mﬁm‘ﬁ‘r& sa pndadinad in the serdence. Choose ke | _ |
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